

定期試験問題 問題5

$$2) \quad I_x = \frac{1}{2} \begin{pmatrix} 0 & 1 \\ 1 & 0 \end{pmatrix}$$

$$I_x^2 = \frac{1}{2^2} \begin{pmatrix} 0 & 1 \\ 1 & 0 \end{pmatrix} \begin{pmatrix} 0 & 1 \\ 1 & 0 \end{pmatrix} = \frac{1}{2^2} \begin{pmatrix} 1 & 0 \\ 0 & 1 \end{pmatrix} = \frac{1}{2^2} E$$

$$I_x^3 = \frac{1}{2^3} \begin{pmatrix} 1 & 0 \\ 0 & 1 \end{pmatrix} \begin{pmatrix} 0 & 1 \\ 1 & 0 \end{pmatrix} = \frac{1}{2^3} \begin{pmatrix} 0 & 1 \\ 1 & 0 \end{pmatrix} = \frac{1}{2^3} I_x$$

$$\therefore I_x^{2m} = \frac{1}{2^{2m}} E, \quad I_x^{2m+1} = \frac{1}{2^{2m+1}} \times 2 \times I_x$$

$$e^{-i\alpha I_x} = \boxed{\sum_{n=0}^{\infty} (-1)^n \frac{1}{(2n)!} \left(\frac{\alpha}{2}\right)^{2n} E} - i \boxed{\sum_{n=0}^{\infty} (-1)^n \frac{1}{(2n+1)!} \left(\frac{\alpha}{2}\right)^{2n+1} \times 2 \times I_x}$$

$$= \cos\left(\frac{\alpha}{2}\right) E - i \sin\left(\frac{\alpha}{2}\right) \times 2 \times \frac{1}{2} \begin{pmatrix} 0 & 1 \\ 1 & 0 \end{pmatrix}$$

$$= \begin{pmatrix} \cos\left(\frac{\alpha}{2}\right) & 0 \\ 0 & \cos\left(\frac{\alpha}{2}\right) \end{pmatrix} - i \begin{pmatrix} 0 & \sin\left(\frac{\alpha}{2}\right) \\ \sin\left(\frac{\alpha}{2}\right) & 0 \end{pmatrix}$$

$$= \begin{pmatrix} \cos\left(\frac{\alpha}{2}\right) & -i \sin\left(\frac{\alpha}{2}\right) \\ -i \sin\left(\frac{\alpha}{2}\right) & \cos\left(\frac{\alpha}{2}\right) \end{pmatrix}$$

$$\therefore e^{i\alpha I_x} = \begin{pmatrix} \cos\left(\frac{\alpha}{2}\right) & i \sin\left(\frac{\alpha}{2}\right) \\ i \sin\left(\frac{\alpha}{2}\right) & \cos\left(\frac{\alpha}{2}\right) \end{pmatrix}$$

$$\therefore P_1 = \begin{pmatrix} \cos\left(\frac{\alpha}{2}\right) - i \sin\left(\frac{\alpha}{2}\right) & \\ -i \sin\left(\frac{\alpha}{2}\right) & \cos\left(\frac{\alpha}{2}\right) \end{pmatrix} \begin{pmatrix} 1 & 0 \\ 0 & -1 \end{pmatrix} \begin{pmatrix} \cos\left(\frac{\alpha}{2}\right) & i \sin\left(\frac{\alpha}{2}\right) \\ i \sin\left(\frac{\alpha}{2}\right) & \cos\left(\frac{\alpha}{2}\right) \end{pmatrix}$$

$$= \begin{pmatrix} \cos\left(\frac{\alpha}{2}\right) & i \sin\left(\frac{\alpha}{2}\right) \\ -i \sin\left(\frac{\alpha}{2}\right) & -\cos\left(\frac{\alpha}{2}\right) \end{pmatrix} \begin{pmatrix} \downarrow \\ \end{pmatrix}$$

$$= \begin{pmatrix} \cos^2\left(\frac{\alpha}{2}\right) - \sin^2\left(\frac{\alpha}{2}\right) & 2i \sin\left(\frac{\alpha}{2}\right) \cos\left(\frac{\alpha}{2}\right) \\ -2i \sin\left(\frac{\alpha}{2}\right) \cos\left(\frac{\alpha}{2}\right) & \sin^2\left(\frac{\alpha}{2}\right) - \cos^2\left(\frac{\alpha}{2}\right) \end{pmatrix}$$

$$= \begin{pmatrix} \cos \alpha & i \sin \alpha \\ -i \sin \alpha & -\cos \alpha \end{pmatrix}$$

$$= (3) \begin{pmatrix} 0 & i \\ -i & 0 \end{pmatrix} = -2I_y$$

$$(2) \quad \therefore \cos^2 \alpha - \sin^2 \alpha = \cos 2\alpha$$

$$2 \sin \alpha \cos \alpha = \sin 2\alpha$$

$$I_2 = \frac{1}{2} \begin{pmatrix} 1 & 0 \\ 0 & -1 \end{pmatrix}$$

$$I_2^2 = \frac{1}{2^2} \begin{pmatrix} 1 & 0 \\ 0 & -1 \end{pmatrix} \begin{pmatrix} 1 & 0 \\ 0 & -1 \end{pmatrix} = \frac{1}{2^2} \begin{pmatrix} 1 & 0 \\ 0 & 1 \end{pmatrix} = \frac{1}{2^2} \mathbb{F}$$

$$I_2^3 = \frac{1}{2^3} \begin{pmatrix} 1 & 0 \\ 0 & 1 \end{pmatrix} \begin{pmatrix} 1 & 0 \\ 0 & -1 \end{pmatrix} = \frac{1}{2^3} \begin{pmatrix} 1 & 0 \\ 0 & -1 \end{pmatrix} = \frac{1}{2^3} I_2$$

$$I_2^{2m} = \frac{1}{2^{2m}} \mathbb{F}, \quad I_2^{2m+1} = \frac{1}{2^{2m+1}} \times 2 \times I_2$$

$$P_2 = e^{-i\omega I_2} \rho_1 e^{i\omega I_2}$$

$$e^{-i\omega I_2} = \sum_{n=0}^{\infty} (-1)^n \frac{1}{(2n)!} \left(\frac{\omega}{2}\right)^{2n} \mathbb{F} - i \sum_{m=0}^{\infty} (-1)^m \frac{1}{(2m+1)!} \left(\frac{\omega}{2}\right)^{2m+1} \times 2 \times I_2$$

$$= \cos\left(\frac{\omega}{2}\right) \mathbb{F} - i \sin\left(\frac{\omega}{2}\right) \times 2 \times I_2$$

$$= \begin{pmatrix} \cos\left(\frac{\omega}{2}\right) & 0 \\ 0 & \cos\left(\frac{\omega}{2}\right) \end{pmatrix} - i \sin\left(\frac{\omega}{2}\right) \begin{pmatrix} 1 & 0 \\ 0 & -1 \end{pmatrix}$$

$$= \begin{pmatrix} \cos\left(\frac{\omega}{2}\right) - i \sin\left(\frac{\omega}{2}\right) & 0 \\ 0 & \cos\left(\frac{\omega}{2}\right) + i \sin\left(\frac{\omega}{2}\right) \end{pmatrix}$$

$$\text{A. } e^{i\omega I_2} = \begin{pmatrix} \cos\left(\frac{\omega}{2}\right) + i \sin\left(\frac{\omega}{2}\right) & 0 \\ 0 & \cos\left(\frac{\omega}{2}\right) - i \sin\left(\frac{\omega}{2}\right) \end{pmatrix}$$

$$P_2 = \begin{pmatrix} \cos\left(\frac{\omega}{2}\right) - i \sin\left(\frac{\omega}{2}\right) & 0 \\ 0 & \cos\left(\frac{\omega}{2}\right) + i \sin\left(\frac{\omega}{2}\right) \end{pmatrix} \begin{pmatrix} 0 & i \\ -i & 0 \end{pmatrix} \begin{pmatrix} \phantom{\cos\left(\frac{\omega}{2}\right) - i \sin\left(\frac{\omega}{2}\right)} \\ \phantom{\cos\left(\frac{\omega}{2}\right) + i \sin\left(\frac{\omega}{2}\right)} \end{pmatrix$$

$$= \begin{pmatrix} 0 & i \cos\left(\frac{\omega}{2}\right) + \sin\left(\frac{\omega}{2}\right) \\ -i \cos\left(\frac{\omega}{2}\right) + \sin\left(\frac{\omega}{2}\right) & 0 \end{pmatrix} \begin{pmatrix} \cos\left(\frac{\omega}{2}\right) + i \sin\left(\frac{\omega}{2}\right) & 0 \\ 0 & \cos\left(\frac{\omega}{2}\right) - i \sin\left(\frac{\omega}{2}\right) \end{pmatrix}$$

$$= \begin{pmatrix} 0 & i \cos^2\left(\frac{\omega}{2}\right) - i \sin^2\left(\frac{\omega}{2}\right) + 2 \sin\left(\frac{\omega}{2}\right) \cos\left(\frac{\omega}{2}\right) \\ -i \cos^2\left(\frac{\omega}{2}\right) + i \sin^2\left(\frac{\omega}{2}\right) + 2 \sin\left(\frac{\omega}{2}\right) \cos\left(\frac{\omega}{2}\right) & 0 \end{pmatrix}$$

$$= \begin{pmatrix} 0 & i \cos \omega + \sin \omega \\ -i \cos \omega + \sin \omega & 0 \end{pmatrix}$$

अतः

$$= \begin{pmatrix} 0 & \sin \omega + i \cos \omega \\ \sin \omega - i \cos \omega & 0 \end{pmatrix} \quad (4)$$